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fg)' @) = (f))(g'x) + (g()(f ()
f9)' (2 =(f2)(g'@) + (g()(f'(2))
=(3)2)+1)(-4) =2

(L)' ) = (9))(f' () = (f(x))(g'(x))

3 (90)°

(f)' @) = PN @) = UD)(g' @)

- (92)°
_WEH-3)@) _
e °

(3f —4fg) () =31/ (0) = 4((f0) (g’ @) + (g0 (F )))
B3f —4f9) (2) =31 2) - 4((f@)(9'@) + (g@)(F )

10 =3(-4) - 4((3)(2) + (1)(-4))
h'(t) =0.12 x 0.1e*1
11

=0.012e%1
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12 | R (3) = 0.012e%1® ~ 0.016
o G+ -™B) 1
Fix = GBx+ 1)? ~(Bx+1)?
13 .
s B +1Z 16
fiZy= (x* + 2) (1 + i) + (x +Vx)(2x)
2+/x
14 y i
] — 2 .5 | = A —
f4) = (4 +2)(1+2ﬁ)+(4+ﬁ)(2x4) = 18(1+4)+6(8) —70.5
f'(x) = 3e3* —3e73*
15 .
f'(1) =3e3—3e3
i) = —2x
" £(20) = —2(20) = —40
f'(x) = (x*)(3)(3x— 1)*’(3) + (3x — 1)*(2x)
17 [ /(D) =(1RBRB-1*3)+ (B -1)%(2)
=36+ 16 = 52
f'(x) = (x + 3)%(3e**) + (e*)(2)(x + 3)(1)
f'(2) = (2+3)*(3e®) + (e®)(2)(2 + 3)(1)
o = 75e® + 10e°
= 85e°
Vel 1 M
f (X) =3 X ;— ;2-
19 5
fie)= P
' i 8x3
20 | f[(x) = =
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21

—1 x 5(x* + 16)*(2x)
(x* l6)20
—-10x
~ (2 +16)°

f(x) =

22

f(x) = (x* —5x + 2)%
FHEpe %(x2 —5x+ 2)_%(2x —5)

B 2x—5
4,/ (x? — 5x + 2)3

23

f'(x) = —40(8x* — 6)"*'(16x)
= —640x(8x%* — 6)~*!

24

—1 x 2 (EpesR
(3+2x)2 " (3 +2x)?

f(x)=

25

(x? + 1D (3x%) — () (2x)
(2* +1)2

. x* + 3?2

=G ie

f(x) =

26

f'(x) = (2x — 8)%(6x) + (3x* — 4)(2)(2x — 8)'(2)
= (2x — 8)(6x(2x —8) + 4(3x% — 4))
= (2x — 8)(24x* — 48x — 16)

27

f(x) = x°(6x +4) + (3x* + 4x — 7)(5x*)
= 6x° + 4x° + 15x° + 20x°> — 35x*
= 21x% + 24x> —35x*

f(x) = 3x7 + 4x% — 7x° sl Sy
f(x) = 21x% + 24x> — 35x*
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f'(0) = (x)@)(2x+ 6)°(2) + (2x + 6)*(3x%)

o =2x*(2x+ 6)3(7x+9)
29 | f'(x) =3(e™ + e*)%(—e™* + &%)
()= (2x3)(—e™*) + (e7*)(6x?)
o = —2x3e ¥ + 6x%e*
>« _ (x+ 1)(eQile*)(1)
Fig = (x + 1)2
31 B xe*
(x4 1)2
1 ; ” 5 ) 25
B R TRT "
33| F=5 =
f(x) = 7 = 1
14 " - 6x+ 2
P = s v 3e—1
e f'(x) = (x°)(3 cos 3x) + (sin3x)(5x*)
= 3x° cos 3x + 5x*sin 3x
f(x) = (cosx)? + sinx
36 | f'(x) = 2(cosx)'(—sinx) + cosx
= —2cosxsinx + cosx
—sinx ——
37 o) = L4 (Zvcosx) _( cosx)(l) _ —sinx 3 Jcosx
. x5 " 2x\cosx =~ x?
38 | f'(x) = (sin 5x) (—C(s)isnxx) + (In(cos x))(5 cos 5x)
-1 x 2x 5
ey (2492  —1x2x x*+9 —2x
APl s 1 ’(x2+9)2X 1 x2+9
x2+9
40 | f' (%) = (e**)(2 cos 2x) + (sin 2x)(2e**) = 2e**(cos 2x + sin 2x)
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41 | N = 1000( 3 X2t ) > 6000t
(t?2 + 50)2 (t? + 50)2
42 |N'(1) =ﬂ ~ 2.3
(1+ 50)2
Al —2000x4 8000
(4t +80)2 (4t + 80)2
P'(10) = e
44 (40 + 80)2
NI a el 10 ams yed JS Q% 0.56 Jaras QYN dae ablisy
15 | Proe —700 x 2t _ —'1400t
(2 +1)2 _(t3a-gD
P(3) = —1400 x e\
46 (9 + 1)

lgh 3 das A 81 el call 42 Janas Sl ase el
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